
48

4

35

52 3

11

47

56

55

54

53

51

50

49

6

1

43

7 8

60

12 14

42

10

57

52

21

18

59
17

58

23

19

22

27

24

25

27

28

39

3029

20

31

32

33

41

46

40

38

45

44
34

37

15

16

9

13

36



S340 Disc Hedge Trimmer
Item Part No. Description Qty Item Part No. Description Qty

1 S340-0104 Motor frame 1 37 DIN985-87 Nut M16 3
2 3C-18W Hose connector 1 38 S340-0120 Article nylon 1
3 CIT-04 Single valve 1 39 GB70.3-2000 Screw M 6x35 2
4 1CT-18-08 Hose connector 2 40 GB794-93 Bolt M 8x20 4
5 S340-0011 Articulated frame 1 41 S340-0112 Knife pressing 

plate block
1

6 S340-0106 Spline housing 1 42 S340-0102 Damper bracket 1
7 BHM225-0105 Rubber cover 35 2 43 S340-0103 Front protection 

plate
1

8 GB97.1-85 Washer 10 14 44 GB97.1-85 Washer 8 6
9 S340-0105 Base plate 3 45 DIN985-87 Nut M8 6
10 GB794-93 Bolt M10x30 6 46 GB794-93 Bolt M8x16 2
11 S340-0101 Belt wheel cover 1 47 GB794-93 Bolt M10x60 4
12 S340-0013 Tensioning lug 

welded fitting
2 48 GB70.1-2000 Screw M8x25 6

13 S340-0014 Braced welded parts 2 49 GB93-87 Spring washer 8 6
14 GB6170-86 Nut M8 2 50 C60-0102 Motor inlet and 

outlet oil connector
2

15 GB5783-86 Bolt M8x60 2 51 GB3452.1-82 O ring 21.2x1.8 2
16 S340-0114 Driven shaft 2 52 GB794-93 Bolt M10x25 2
17 GB276-94 Bearing 6004-Z 6 53 DIN985-87 Nut M10 14
18 S340-0012 Bearing seat 

weldment
3 54 GB96.2-2002 Washer 10 2

19 S340-0108 Spacer 3 55 GB5783-86 Bolt M10x35 2
20 S340-0115 Driven belt wheel 2 56 2.5ABMF12F47J

02
Hydraulic motor 1

21 DIN985-87 Nut M6 27 57 GB1096-2003 Key 6X20 1
22 GB97.1-85 Washer 6 27 58 S340-0107 drive shaft 1
23 S340-0122 mound layer 1 59 S340-0109 Drive belt wheel 1
24 S340-0121 Rubber fender 1 60 GB11544 V belt-XPA907 2
25 S340-0117 Baseboard 1
26 GB794-93 Bolt M6x16 6
27 GB794-93 Bolt M6x20 11
28 GB70.3-2000 Bolt M6x25 8
29 S340-0119 Nylon liner 1
30 S340-0118 Block between disc 4
31 S340-0110 Knife holder 3
32 S340-0111 Knife seat 3
33 GB70.3-2000 Screw M8x20 6
34 GB／T 13573-

92
Saw blade 
400x30x2.4x72T

3
35 S340-0113 Knife seat plate 1
36 S340-0116 Knife platens 2


	S340 - 爆炸 - 图纸1
	S340爆炸1

